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(m) (m) (kN/m) EE B (m) (m) (kN/m) (m) (m) (kN/m) (m) (m) (kN/m)
; 100kN/m#%#BZ % — -~ - —|3mEEZB| — ~ — — — | 100kN/mMi%# %3 — -~ — —|3mZE#BZ 3 -~ — — -
ZzhnLst 1.00 | 0.00 ~ 459 57.19 | =hst | 000 ~ 459\ 1.88 10.08 ZzhnLst 1.00 | 5.00 ~ 5.00 5719 | =nLs | 5.00 ~ 5.00)| 1.88 10.08
2 100kN/m#%#BZ % — -~ - —|3mEEZB| — ~ — — — | 100kN/mMi%# %3 — -~ — —|3mZEHBZ 3 -~ — — -
ZzhnLst 1.00 | 0.00 ~ 6.82 86.22 | =hs | 000 ~ 000|167 8.95 ZzhnLst 1.00 | 5.00 ~ 850 86.22 | #hst | 5.00 ~ 850\ 1.67 8.95
P 100kN/m#%#BZ % — -~ - —|3mEEZB| — ~ — — — | 100kN/mMi%# %3 — -~ — —|3mZE#BZ 3 -~ — — -
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Zhst ~ ZhLst ~ Zh s ~ ZhLst ~
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Zzh st ~ Th s ~ Zzh st ~ Zzh s ~

D
H
f



